V-Twin Mfg.
Right Side Tool Box Kit
Fits 2006-UP FXD,FXDWG
VT No. 50-2025
Use w/Peg Relocation Brackets 27-0861

This is a custom application and rider safety depends on proper installation. This product should
only be installed by a knowledgeable and trained motorcycle technician. V-Twin Mfg. accepts no
responsibility for improper installation.

Installation Instructions:

1. Remove rubber plugs from the right forward end of the swing arm and discard.
2. Install the bracket on the swing arm using the 3/8-16 x 1” bolt with lock washer as shown in illustration below.
3. Install the tool box on the bracket using the three 5/16 -18 X 3/4 flat head tapered allen bolts and conical washers as
shown in illustration below.
4. If mounting with rear foot peg mounts VT No. 27-0861, remove the 1” long bracket screws and install the right foot peg
mount on top of tool box bracket with the 1.25” hex bolts and lock washers as shown in illustration below.
5. Install the matching left foot peg with the 1” hex bolts and lock washer.
Parts List
QTY | Description V-Twin No.
1 | Tool box 50-0600
1 Bracket 31-1752
2 | 3/8"-16 x 1 Hex bolt 100-041
3 | 5/16” -18 x % Flathead tapered allen bolt 500-079
3 | 5/16” Conical washer 37-9178
2 | 3/8” Split lock washers 400-001
2 | 3/8-16 x 1.25” Hex bolt 100-027

Bolts for mounting
S optional rear foot pegs

/0 Y\ 3/8-16 x 1.25” >
Ly /1 // {/ ) Hex bolt with =——=— f’?_,/ >‘)
VA ' / lock washer .. /
/’ // //i r;))’- §/
S |
L s -/% %

/
| T g

>, —————27-0861 Foot
Peg Kit
| 3/8-16 x 1" Hex bolt gﬁ

withﬁlock washer

-

/ /

i

Tapered allen
bolt

‘
g
i

v

ﬁ% & (==

U # - Lt
| 7 s
Tool box 50-0600 7 ———
Bracket 31-1752 Bightedenhowing | \
arm \ ),
T .

Copyright©11/2008
Tedd Cycle, Inc.



